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A B C
Given: AB = BC i )
Prove: AC = 2BC
AB = BC Given
AC = AB + BC Segment Addition
- Postulate
AC = BC + BC Substitution
AC = 2BC Substitution




2-7 Cut & Paste Proofs.notebook

October 24, 2014

Given:

AP=CF ><
— — [+
BP=DP
Prove: A_Bgaj
AP=CF Given
=DF Given
Definition of Congruent
AP = CP Segments
BP = DP Definition of Congruent
Segments
AP + PB = AB Segment Addition
Postulate
CP + DP = AB Substitution
C_P +PD =CD Segment Addition
Postulate
AB = CD
Transitive Property
T Definition of Congruent
AB=CLC J
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